Exercise 2.3

Expanding left hand side gives
w+ AL uy + -

and the right hand side
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Then writing e = U} — u(z;t,) we get
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The sum of the coefficients on the right is 1, and they are all non-negative provided
At S %A.Tj_lAﬂfj.
Then

‘ey’ < nAt T < tpT in the usual way.



Exercise 2.4
Suppose 0 <e;j_1 < 1.

Then

bj —aj; <bj —ajej_1 < b since a; >0
and since b; — a; > ¢; this gives

cj < bj—ajej_1 <b;
giving

]

0<ej: <1

bj — ajej_l

Since eg = 0 this shows by induction that 0 <e;j_y <1for j=1,2,...,J —1.

In the same way, if |ej_1| < 1 then

b — ajej—1| > |lb;] — laj| lej—1l|
> |bj| — |ay|
> el

and hence |e;| < 1.

So by induction if |eg| < 1 then |e;| <1 for j =1,2,...J —1.



